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Answers with Explanation

School Service Exam. (Based on Tentative Syllabus) – Practice Set

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (d) pieces
2. (b) bouquet
3. (a) Extant
4. (a) fit
5. (c) cannot; buy
6. (d) council; counsel
7. (b) She pleaded with her mother not be angry

with her.
8. (d) His dog is taken care of by me.
9. (b) Vanity
10. (a) Hostile
11. (d) shoal
12. (b) Assume
13. (d) ö„þîœ îy¢%öì”î
14. (b) my”Ÿ Ÿ“þöì„þ
15. (a) to
16. (c) „þöì˜ï‹
17. (d) ö›öì£îû†vþü
18. (b) ‰¤%þ‰%þvþüy
19. (d) ‹˜ œöìîûª
20. (a) ö‹öì̃ ¦þy
21. (c) !£›yœëû
22. (a) „þ˜Äy„%þ›yîû#
23. (b) !£›y‰þœ ²Ìöì”Ÿ
24. (b) TICCHOPSY

NEU RO TIC

TIC
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TIC
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¢›y˜¦þyöìî–

25. (c)
1 1 1 1 1 1 1 1
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      
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1 1 1 1 1 1 1 1
...

4 5 5 6 6 7 11 12
                     
       

1 1 1 1 1 1 1 1
...

4 5 5 6 6 7 11 12
       

1 1 3 1 2 1

4 12 12 12 6


    

26. (b) 0.34676767... + 0.13333333...
= 0.480101...

0.4801
27. (d) 4, 3, 1, 2

28. (c) 5 4 3 2 x 7 21 x

9 9

     


x ~îû ›y˜ î¢yöì̃ y £œÐ “þy£öìœ ö¢!Ýþ ¢Á™)’Å¦þyöìî 9 myîûy
!î¦þy‹Ä £öìîÐ x = 6

21 6 27
0

9 9


   ¦þy†öìŸ¡ì

29. (b) ²ÌÙÀy˜%¢yöìîû– ë!” 1
2 x

1
1

1
3

4

 



1
2 x

4
1

12 1

  



1
2 x

4
1

13

  


13
2 x

17
  

13
x 2

17
  

34 13
x

17


 

21
x

17
 

30. (d) •!îû– A ~î‚ B ~îû xyëû ëíye«öì› 4x ~î‚ 3x
A ~î‚ B ~îû îÄëû ëíye«öì› 3y ~î‚ 2y
²ÌÙÀy˜%¢yöìîû–
4x – 3y = 600 ...(i)
3x – 2y = 600 ...(ii)
”%!Ýþ ¢›#„þîûöì’îû ›öì•Ä “%þœ˜y „þöìîû þ™y£zéôôôé
4x – 3y = 3x – 2y
îy– x = y

y ~îû ›y˜ (i) ˜‚ ¢›#„þîûöì’ î!¢öìëû þ™y£zéôôôé
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4x – 3x = 600
îy x = 600

A ~îû xyëû £œ = (4 × 600) = 2400 Ýþy„þy
31. (a) 12x – 66  6

12x  72
x  6

32. (a) öŠéöìœ ­ ö›öìëû = 13 : 11
²ÌÙÀy˜%¢yöìîû–
13x + 11x = 504
îy– 24x = 504
îy– x = 21
öŠéöìœîû ¢‚…Äy = 21 × 13 = 273
ö›öìëûîû ¢‚…Äy = 21 × 11 = 231
3 ‹˜ ö›öìëû ¦þ!“Åþ £œéôôôé
¢%“þîûy‚ ö›öìëûöì”îû ¢‚…Äy î,!kþ öþ™öìëû £œ (231 + 3) =
234 ‹˜
î“Åþ›yöì̃  öŠéöìœ ç ö›öìëûöì”îû ˜“%þ˜ x˜%þ™y“þ
273 : 234
= 91 : 78
= 7 : 6

33. (c) m : n = 3 : 2
m 3

n 2


m
n 4 5

4m 5n n
m4m 5n n 4 5
n

     
   

 
3

4 5 6 5 112
3 6 5 14 5
2

  
  

 

11:1
34. (c) xöìBþ öšþœ „þöìîûöìŠé = 34%

£z‚îûy‹#öì“þ öšþœ „þöìîûöìŠé = 49%

£z‚îûy‹#
14% 20% 22%
xBþ

öšþœ „þîûy Šéyeöì”îû ö¦þ˜!‰þe ­
vþz¦þëû !î¡ìöìëû þ™yŸ „þöìîûöìŠé ~›˜ Šéye ¢‚…Äy
[100 – (14 + 20 + 22)] = 44%

35. (a) Censure
36. (a) This information might have been given earlier.
37. (b) an improbable or unbelievable story given as

an explanation or excuse
38. (d) Liberal

39. (a) Were the clerks paid their salary on the first
day of the month?

40. (c) Persistent
41. (d) Against, contracting
42. (b) 225°

43. (a) 9
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12

L
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²Ì!“þ îöì’Å 2 „þöìîû „þöì›öìŠéÐ
x %̃îû*öìþ™–
12

L

15

O

10

T

21

U

19

S J M R S Q

44. (b) 64 : 186 = 64 : [( 64  + 6)2 – 10]

 144 : ? = 144 : [( 144  + 6)2 – 10]
= 144 : (182 – 10) = 144 : 314

45. (b) 64 : 4 = 64 : 3 64

 125 : ? = 125 : 3 125  = 125 : 5

46. (b) 20 : 50 = 2 : 5 = (2 × 50) : (5 × 50) = 100

: 250

47. (c) 5 : 130 = 5 : (53 : 5)
 6 : ? = 6 : (63 + 6) = 6 : 222

48. (d)

49. (a)

T H O U G H T T H G U O H T

x˜%îû*öìþ™– T H R O A T  T A O R H T

50. (b) D E C E M B E R  E D E C B M R E ²Ì!“þ!Ýþ
ö‹yvþü ßþiy˜ !î!˜›ëû „þöìîûöìŠéÐ
x %̃îû*öìþ™–
F E B R U A R Y  E F R B A U Y R

51. (d) Spinach Šéyvþüy îy!„þ !“þ˜!Ýþ =îû&cþ™)’Å ˜”#îû ˜y›Ð
52. (d) î¤y!Ÿ Šéyvþüy îy!„þ !“þ˜!Ýþ “þyöìîûîû ësþf (Wire musical

instrument)Ð
53. (c) Veranda Sîyîûy¨yV îy!vþüîû îy£zöìîûîû x‚ŸÐ îy!„þ !“þ˜!Ýþ

îy!vþüîû ö¦þ“þöìîûîû !î!¦þ§¬ x‚ŸÐ

54. (a) 4 5 13 23 49 95 193

×2–3 ×2+3 ×2–3 ×2+3 ×2–3 ×2+3
 !˜öì’Åëû ¢‚…Äy = 95 × 2 + 3 = 193

xÄy!‰þ¦þy¢Å
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xÄy!‰þ¦þy¢Å

55. (b) 8 6 8 18 64 310

×1–2 ×2–4 ×3–6 ×4–8 ×5–10
 !˜öì’Åëû ¢‚…Äy = (6 + 2) ÷ 1 = 8

56. (a) 0 5 15 50 205 1030

×1+5 ×2+5 ×3+5 ×4+5 ×5+5
 !˜öì’Åëû ¢‚…Äy = 205 × 5 + 5 = 1030

57. (a) ö×!’!Ýþîû e«› £œ ­ bbccdd / bbccdd / bbccdd

 bbccdd þ™îûþ™îû !“þ˜îyîû îöì¢öìŠéÐ

58. (d) 1   26
A   Z,

3   24
C   X,

6   21
F   U,

10   17
 J     Q,

4    23
D   W

1 + 26 = 27, 3 + 24 = 27, 6 + 21 = 27,
10 + 17 = 27

59. (d) ö×!’!Ýþîû e«› £œ ­ bbb/ccc/aaa/bbb/ccc/a

 ²Ì!“þ!Ýþ @ùÌ&öìþ™£z ~„þ!Ýþ î’Å [b  c  a] ~£z e«öì›
þ™îûþ™îû !“þ˜îyîû îöì¢öìŠéÐ

60. (d)

–1 –1 –1

AZ BY CX DW

+1 +1 +1

61. (b) ‹£îû „þœy ö„þw îûy‹ßþiyöì̃  xî!ßþi“þ ~î‚ ~!Ýþ ˜î@ùÌöì£îû
!î¡ìëûîlßþîû çþ™îû !˜!›Å“þ £öìëûöìŠéÐ

62. (c) cosec × tan =
2

3
1 sin 2

sin cos 3


 
 

1 2

cos 3



2
sec sec30

3
   

  = 30°
63. (a) îûy‹ßþiyöì̃ îû öëy•þ™%îû ~ëûyîû öîöì¢ ¦þyîû“þ#ëû îyëû%öì¢˜y ~î‚

ç›yöì˜îû îyëû%öì¢˜y îy!£˜#îû ›öì•Ä öëïí ¢y›!îû„þ ›£vþüy
‘Eastern Bridge-VI’ x˜%!Ûþ“þ £œÐ

64. (d) ²Ìí› þ™¤y‰þ!Ýþ ¢‚…Äyîû †vþü = Z
 “,þ“þ#ëû ¢‚…Äy!Ýþ = Z
öŸ¡ì !“þ˜!Ýþ ¢‚…Äy £œ ëíye«öì› = Z + 2, Z + 3 ~î‚
Z + 4

 öŸ¡ì !“þ˜!Ýþ ¢‚…Äyîû †vþü Z 2 Z 3 Z 4

3

    


3Z 9 3(Z 3)
Z 3

3 3

 
   

65. (d) !šþ!œ!þ™öìªîû ›Äy!˜œyëû x˜%!Ûþ“þ 39“þ› îÄyvþ!›rÝþ˜ ~!Ÿëûy
‰þÄy!Á™ëû̃ !Ÿöìþ™ öîÊyO þ™”„þ œy¦þ „þîûöìœ˜ ¦þyîû“þ#ëû îÄyvþ!›rÝþ˜
“þyîû„þy !þ™ !¦þ !¢õ%þÐ

66. (d) 2 îŠéîû ö›ëûyöì”îû ‹˜Ä !¢!Ýþ £zvþz!˜ëû̃  îÄyöìBþîû þ™yÝÅþÝþy£z›
ö‰þëûyîû›Äy˜ !£¢yöìî !˜ë%_« £öìœ˜ ~› ˜yîûyëû’˜Ð !“þ!˜ xyîû
ö›y£öì̃ îû ßþiœy!¦þ!¡ì_« £öìœ˜Ð

67. (d) ¢îûœ ¢%”
48750 16 73

100 365

 



= 1560 Ýþy„þy

68. (c) 4  A + B  30

5  A + B + C  24

 
 

120

 C ~îû ¢›ëû œy†öìî
120

5 4



= 120 !”˜

69. (b) ¢%!²Ì› ö„þyöìÝÅþîû !î‰þyîû„þ îûO˜y ²Ì„þyŸ ö”Ÿy£z– ²Ì•y˜ !˜îÅy‰þ˜
„þ!›Ÿ˜yîû ¢%Ÿ#œ ‰þw ~î‚ ‹Á¿% ç „þyÙÂ#öìîûîû !‰þšþ
£zöìœöìQyîûyœ x!šþ¢yîû ö„þ ö„þ Ÿ›Åyîû !vþ!œ!›öìÝþŸ˜ „þ!›Ÿ˜
ö„þwŸy!¢“þ xMþéœ ‹Á¿% ç „þyÙÂ#öìîûîû ‹˜Ä ˜“%þ˜ ›Äyþ™
²Ì„þyŸ „þîûœÐ ~£z ›Äyþ™ x˜%ëyëû# ‹Á¿% ç „þyÙÂ#îû !î•y˜¢¦þyîû
xy¢˜ ¢‚…Äy •yëÅ „þîûy £œ 90, þ™)öìîÅ ëy 83 !ŠéœÐ ~îû ›öì•Ä
„þyÙÂ#îû !vþ!¦þŸ˜ öþ™œ 47!Ýþ xy¢˜ ~î‚ ‹Á¿% !vþ!¦þŸ˜
öþ™œ 43!Ýþ xy¢˜Ð

70. (a) !îöìÙ»îû ”#‡Å“þ› „þyöì‰þîû öîyÝþ› !îÊ‹ !¦þöìëû“þ˜yöì› !˜!›Å“þ
£œÐ !îÊ‹!Ýþ 632 !›Ýþyîû ”#‡Å ~î‚ ‡˜ xîûöì’Äîû 150 !›Ýþyîû
vþzþ™öìîû xî!ßþi“þ !ŠéœÐ

71. (b) talk shop
72. (b) flock together
73. (c) abet, in
74. (c) in
75. (c) in
76. (c) ›•Ä²Ìöì”Ÿ
77. (c) ö†y¢yîy
78. (a) ÷˜!˜“þyœ
79. (a) ”yîy
80. (b) !Gþœy› ç ‰þw¦þy†y
81. (d) 8 D 2 A 6 C 3 B 5

= 8 ÷ 2 + 6 × 3 – 5
= 4 + 18 – 5
= 17

82. (a)

M N Q P O

vþy˜!”„þ öíöì„þ ¢îyîû ²Ìíöì› xyöìŠé O
83. (a) 7
84. (b) 1, 8, 9, 64, 25, ?, 49

12 = 1, 23 = 8, 32 = 9, 43 = 64, 52 = 25, 63

= 216, 72 = 49
85. (a) 0.002 × 0.5 = 0.001
86. (b) 35 ö„þ!‹ ‰þyöìœîû ”y› = (9.50 × 35) = 332.50 Ýþy„þy

30 ö„þ!‹ ‰þyöìœîû ”y› = (10.50 × 30) = 315 Ýþy„þy
 65 ö„þ!‹ ‰þyöìœîû ”y› = (332.50 × 315) = 647.50
Ýþy„þy
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1 ö„þ!‹ ‰þyöìœîû ”y› = 9.96 Ýþy„þy

35% œy¦þ £ëû
135

9.96
100

  = 13.446 Ýþy„þyëû = 13.50

Ýþy„þyëû þS²ÌyëûV
87. (c) ¢%̃ #“þy > îûy•y > ŸÄy› > îû#“þy > †#“þy > ~öì”îû ›öì•Ä „þ!˜Ûþ

£œ †#“þyÐ
88. (d) •!îû– ö›öìëûîû îëû¢ = x

îyîyîû îëû¢ = 4x

îy–
x 5 1

4x 5 3





îy– 3x + 15 = 4x + 5
îy– x = 10
î“Åþ›yöì̃  îyîyîû îëû¢ = (4 × 10) = 40 îŠéîû
ö›öìëûîû îëû¢ = 10 îŠéîû
xyîûç 5 îŠéîû þ™îû ö›öìëûîû îëû¢ = (10 + 5) = 15 îŠéîû
xyîûç 5 îŠéîû þ™îû îyîyîû îëû¢ = (40 + 5) = 45 îŠéîû
 !“þ!˜ “¤þyîû ö›öìëûîû îëûöì¢îû 45/15 = 3 =’

89. (a)

3 !„þ!›
3 !„þ!›

2 !„þ!›

î“Åþ›yöì̃  !“þ!˜ ~…˜ þ™!Øþ› !”öì„þ £¤yÝþöìŠé˜Ð
90. (c)
91. (c) œBþy
92. (c) N


K

L

M
 M ¢îyîû ˜#öì‰þ îûöìëûöìŠéÐ

93. (c)

94. (d) xyëû“þ„þyîû ²ÕöìÝþîû ÷”‡ÅÄ ç ²Ìßþi = 6x ç 5x
²ÌÙÀy˜%¢yöìîû–
6x = 5x + 34
îy– x = 34
 ÷”‡ÅÄ = (6 × 34) = 204 !›Ýþyîû
²Ìßþi = (5 × 34) = 170 !›Ýþyîû
þ™!îû¢#›y = 2(204 + 170) = 2 × 374 = 748 !›Ýþyîû

95. (c) 40% ˜Áºîû = 265 + 55 = 320

 100% ˜Áºîû =
320

40
× 100 = 800

96. (b) •!îû– xy¢œ = x
¢%”y¢œ = 2x
¢›ëû = 4

 ¢%” = (2x – x) = x Ýþy„þy
1 100

r
pt




x 100
25%

4 x


 


 Ýþy„þy ¢%öì”›%öìœ 8 =’ £öìîÐ

7x 100
t 28

x 25


 


 28 îŠéöìîû ¢%öì”›%öìœ 8 =’ £öìîÐ

97. (a) ö¢!›„þ˜vþy„þÝþîû
98. (c) ö„þ¦þœyîû
99. (b) öšÊþëû̃
100. (b) !˜Á¬ “þyþ™›yey– vþzF‰þ‰þyþ™
101. (c) £zvþzöìîû!˜ëûy›
102. (d) ö¢y!vþëûy› „þyîÅöì̃ Ýþ
103. (d) policy of neither having nor letting others have
104. (a) mandatory
105. (b) Aware
106. (d) Absence without permission
107. (a) a source of annoyance
108. (c) xíÅ̃ #!“þ!î” ‹˜ ö›˜yvÅþ ö„þ£z̃ ¢ £öìœ˜ 'The General

Theory of Employment, Interest and Money
(1936)' î£z!Ýþîû öœ…„þÐ

109. (b) !‰þ˜%„þ ëy 'Snow eater' ˜yöì› þ™!îû!‰þ“þ “þy vþz_îû xyöì›!îû„þy
›£yöì”öìŸ ²Ìîy!£“þ £öìëû íyöì„þÐ

110. (d) ¢Á±!“þ 52“þ› Ýþy£z†yîû !îû‹yöì¦Åþîû ßþº#„,þ!“þ ²Ìy® îûy›†vþü
!î¡ì•yîû# x¦þëûyîû’Ä!Ýþ îûy‹ßþiyöì̃  xî!ßþi“þÐ

111. (a) !îÙ» îÄyöìBþîû ²Ì!“þöìî”˜ x %̃ëyëû# „%þöìëûöì“þ 2022 ¢yöìœ @ùÌy›#’
‹˜¢‚…Äy ²Ìyëû Ÿ)̃ Ä !ŠéœÐ

112. (d) ¦þyîûöì“þ ò„þyöìëÅîû î”öìœ …y”Äó îy 'Food for Work' ö²Ìy@ùÌy›
1977 ¢yöìœ ¢)‰þ˜y „þîûy £öìëû!ŠéœÐ

113. (d) ò!îûœyöìëûª !‹çó ~îû ˜“%þ˜ ö‰þëûyîû›Äy˜ !£¢yöìî xy„þyŸ
xyÁºy!˜öì„þ !˜ë%_« „þîûy £œÐ !“þ!˜ “¤þyîû !þ™“þy ›%öì„þŸ xyÁºy!˜îû
ßþiœy!¦þ!¡ì_« £öìœ˜Ð

114. (a) ö“þöìœDy˜y £y£zöì„þyöìÝÅþîû ˜“%þ˜ ›%…Ä !î‰þyîûþ™!“þ !£¢yöìî vþzIµœ
¦¤%þ£zëûyöì„þ !˜ë%_« „þîûy £œÐ

115. (a) 29 ‹%̃  þ™y!œ“þ £çëûy 16“þ› ˜ÄyŸ˜yœ ÞÝþÄy!Ýþ¢!ÞÝþ: övþ
îy ‹y“þ#ëû þ™!îû¢‚…Äy˜ !”îöì¢îû !í› £œ Data for
Sustainable Development.

116. (c) òçöìO¢ó ˜y›„þ xy!”îy¢# ö†yÛþ# ö„þwŸy!¢“þ xMþéœ
xy¨y›y˜ ç !˜öì„þyîîû m#þ™þ™%öìO œÇþÄ „þîûy ëyëûÐ

117. (c) òî˜ †#“þó x¢öì›îû ~„þ!Ýþ öœy„þ¢D#“þ !£¢yöìî þ™!îûöìî!Ÿ“þ
£ëûÐ

118. (d) xÄyöì›y!˜ëûy– ˜y£zöìÝþÆyöì‹˜ ~î‚ £y£zöìvÈþyöì‹öì̃ îû ¦þöìîûîû x %̃þ™y“þ
£œ 14 : 3.
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119. (b) ¢yöìëûª ç £z!O!˜ëûy!îû‚ öÇþöìe 2022 ¢yöìœîû þ™p×# þ™%îûßþñyîû
²Ìyþ™„þ !îKþy˜# £öìœ˜ vþƒ ¢‚‡!›ey îöì̈ Äyþ™y•ÄyëûÐ

120. (d) ¦þyîûöì“þîû î,£_› xhsþöì”ÅŸ#ëû ö˜y˜y ‹öìœîû £É” £œ îûy‹ßþiyöì̃ îû
¢Áºîû £É”Ð

121. (d) œyöì£yöìîû xî!ßþi“þ îy”Ÿy£# ›¢!‹” ›%‡œ ¢ÁËyÝþ èîûDöì‹î
„þ“,Åþ„þ 1673 !˜!›Å“þ £öìëû!ŠéœÐ

122. (a) öîyöìÁº ÞÝþ„þ ~:öì‰þO
123. (a) öîyöìÁº ÞÝþ„þ ~:öì‰þO
124. (d) 6-14 îŠéîû
125. (d) îûy‹Ä¢¦þy „þ…˜£z ö¦þöì̂  ö”çëûyîû !˜ëû› îy ˜#!“þ ö˜£z
126. (c) Ÿysþiy˜y› „þ!›!Ýþ !îûöìþ™yÝÅþ
127. (b) öœy„þ¢¦þy
128. (b) îûy‹Ä “þy!œ„þy
129. (b) 42“þ› ¢‚!î•y˜ ¢‚öìŸy•˜#
130. (b) îy‡
131. (d) ˜#œ!†!îû þ™îÅöì“þ
132. (b) x‹hsþy
133. (c) 30 !„þ!›

134. (c) ”yöì›y”îû ¦þÄy!œ þ™!îû„þÒ˜y
135. (c) !Ÿœ‰þîû
136. (a) ö„þçœyöì”ç ˜ÄyŸ˜yœ þ™y„Åþ
137. (c) Šéëû îŠéîû îy 65 îŠéîû îëû¢ þ™ëÅhsþ
138. (b) ö›‡yœëû
139. (b) ¦þyîûöì“þîû xíÅ›sþf#
140. (b) þ™Mþéyöìëû“þ ¢!›!“þ
141. (b) 226 ˜‚ •yîûy
142. (a) ‰þîû„þ
143. (c) 1699

144. (b) ‰þyÝÅþyîû xÄyQ 1833

145. (d) 1809 !…Êƒ
146. (c) ö›y£˜ !¢‚
147. (d) £zëû‚ £z!uþëûy
148. (d) !î£yîû
149. (c) ö›y£˜ !¢‚
150. (c) œvÅþ „þy‹Å̃

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å


